P71 a"7'own 2,7 naw .7"02

Someone threw an object — 2977 927 R B2 197 23 By P
and it landed upon a small protrusion, 529 holds him liable

OVERVIEW
701" 21 answered that our 771wn which does not require neither 777y nor 7m0
from a "7 D1pn is according to *27. However, 7o 21 did not specify where
27 says this. The X 3 is discussing which statement of °17, is A0 27
referring to. Is it the case of Ryw 22 11 3"y 111 p71? The X 1) refutes that it is
certainly not this case (for the discussion there is regarding 9n2 1911 70
1P°Y), so it must be the case of ¥¥naRa "7 "% "7 Pr and A0 20
accepts the interpretation of 777 27 that ARXIT 2WH DA O°NW 27 7377 270N
10137 21w NAXY, which proves that °27 does not require a '7 2p» neither for
77°PY nor 7737, This is what 701 27 meant when he said X°77 °27 °1a X7, Our
MooIn analyzes both of these proofs
mooIn asks:

— %32 NYPY RN YA XDT XIN ININ RNDT 7Y NYPN ININ 9NN ON)
And if you will say; the previous question still remains; ‘perhaps only a
7 does not require a '7 21Pn, but an 793Py does require a '7 opn.” s™2n

ruling (in the case of w"> 11 3"V 111 P71) was only about a 77377 but not about an 77°p¥, so
7o 27 definitely could not be referring to this ruling of *29.

ND0IN answers:
— 2959¥ 7599 591 X921 91319 W
And one can say; that this is indeed a valid refutation, however the Xn3

refutes it in another manner, but really it could have chosen this refutation as
well.> The X3 was not particular in its refutation, for the X3 anticipated that Ao 27
was really referring to the other case of 27, namely ¥¥nX2 >"771 1"'77% 7"77% P71, basing it
on s 17 interpretation that 2°nw °237 7°7 21, and from there we derive that °29
maintains that neither 77°pY nor 7117 require a '7 21Pn. This question and answer of N2OIN
lay the groundwork for the upcoming question.

! noon assumes that Ao 21 was aware of the previous refutation *v2 7Py X7 °¥2 K27 X7 737 8127, and is
responding to it, saying that >27 holds that neither 77°p¥ nor 11117 require a '7 2pn. See ‘“Thinking it over’ #1.
? The xx refuted the proof, saying the reason for the 211 is because 197 12 191 *7w. See footnote # 7.

? The advantage of the s'X7a3 refutation may be that we cannot assume that 27 does not require a '7 D12
even by nn1i, as opposed to mooIN refutation, where a 1M1 does not require a '7 2pn. See (however),
‘Thinking it over’ # 2.
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mooIN asks:

— DA IINT DTN 297 RN Y (v tx 4m) PIITNA YAPY S0 D2990Y AU YaN
There is a difficulty however according to the reading of those texts
later in the 29177 P75 concerning the statement of 777%7° 39 which the X n3
will soon mention regarding the case of ¥y¥axa "7 7"A12 "7 PO1, where "27 is
2»1n; their texts reads -

=09V 29 NN 3»NN

7717° 27 said that %29 is 29 two nixvn, one for 701977 and one for 7XXT; the X3
in P37 continues:

— 7199 AN DIPNA NTIINN 299M1 2297 NI 1D NOWP NP XTON 29 2NN

That *x7or 31 while studying had a difficulty with s'777° 21 interpretation

of *27, and X701 21 asked: did 777" 21 mean to say that "37 is 772K 2990

AR 2PN, how can he be 2»n for IR¥IT 70157 at the same time, 70177 is a 77290 of ARX

and we find that *27 maintains that you are not 21 on a AR 21p»2 772112 The X 1) there
continues:

— 99 NOWD KDY 1Y 5301 2291N 91 *90Y 29 7Y 9N
neY 239 responded to X707 17, You sir have learnt that 7717 27 was

referencing 29, and therefore had this difficulty - the above mentioned
contradiction -

— 72290 9NT AN %29 939D NY 12NN AN 229N IN
We however reference s'777 27 statement to the 77 of ®7737 329; according
to 777 27 who says that 2>°17 7"7372 Nk "7 72 7"77% 9" P17, on this 27

777 commented that 7717 27 maintains he 1s @0 2997, one for 7X¥7 and one
for 7"772 NMnR '7 7°2vn, and since 3717 °27 never said that a8 DIP»2 77710 is MWY, there is
no difficulty -

— AN DIPNA NTIINN 229 29NN XYY 73 29NN XY ’a9Y Yan

21 however does not agree that you are 2%’ two NM127p in the case of P71

YXNR2 °"77 7"77% 2" because 521 maintains that you are not liable for a
a8 2R 779N, It is evident that 5o 27 maintains that °27 is not 'a 27 -

— NN 22921 RN 901 29 XD NN )9 ON

therefore how did noY° 29 want to answer that our 7107 is according to 39

since according to these texts no1° 27 states that we have no indication that "37 is 2nn

*In our (X,7¥) N1Im the text reads X 27, see gloss there.

3 Other texts (see 1" in our MdON footnote # 12) reverse the roles, A0 21 asked the question and X707 20
responded.

% Let us distinguish between 7737 221 the Xan, and 7797 27 the X7
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2nw, in fact since "7 holds 28 2pn2 777I0K 270 X9, he cannot be 2nw 217, so
obviously -

— %932 NYPY NN YA NDT XN NN RNDT AVPH INON
The original question still remains perhaps a 117277 does not require a 2pn

"7 but an 79°pY does require a '7 01p», so what did 70 27 mean when he said 1 X7
X°71°27. It seems that he did not even begin to address the question?!

In summation: Moo assumes that A0 27 is coming to answer the refutation 1M RPDT
YA 77°PY KT °¥a ®97 X7, and will show us that 27 maintains that both ya XY an3m 7Py
"7 017, 90 21 could not have meant the case of X1;7w 95 11 A"y 11 P77, because from there
we only know 7n37. Therefore he must have meant the case of "7 "% "7 P
y¥nX3a, according to the interpretation of 773> 17 who says 2°nw °27 77 2>mn, which
would definitely prove that 27 holds that "7 21p» *¥a X7 7n3m 771°py. The problem is that
A0 27 says in P P9 that °27 is not @°nw 2nn; therefore we still have no proof
concerning 17py.

MDOIN answers:
— 90 29 9207 MY YN
And one can say; 707 27 was indeed referring to the case of 93 11 3"y 1 pr
X17w, nevertheless you cannot ask *¥2a 77°py X7 °¥2 K27 X7 7737 897, for 29
noYY maintains -
— 5y NPPY NN 995 KON Y95 NN NIOYT NYPY 2397 DVIYTPN NVTT
That only on s'y''1 principle of /w¥»p where the object does not rest at all,
only there is it appropriate to ask w3 799 N7, since nu1%p is such a novel
concept, we will apply it minimally, only by 7117 -

— NINY D92 NOHD NPYYT P10 RXIN NINYW DI 17522 DY HNIN *¥aT %298 YaN
However, concerning 27 who does require a 1737 albeit on a Ry 95 17
the same should hold for 777°py that a minimal place suffices.’

Since ¥"Y maintains 7v17p, that means that not only is a '7 21 not required for 137, but
rather that there is no concept of 117 — the object being at rest — at all; all that is required
to complete the 15871 is V7P, Therefore we cannot say for sure that ¥"9 maintains that

less than a "7 21pn is also a 2wn oIpn, for ¥"1 merely says that no 7n37 is required; TV is
sufficient. When a o'p» is required however, as in 77py,* v"7 may well agree that a Dpn

7 This answer also explains why the X3 did not ask *¥2 77°py X1 °¥2 K97 X371 7137 X29°7 on the proof of
w"S 11 A"Y; not as MdOIN mentioned earlier. See footnote # 2.

¥ We assume that a 01pn is required by 77°py based on how it was in the 19w or from ¥mpnn WK X¥° 9X. It is
more logical to assume that y"9 differentiates between 77’y (which requires a ["7] 2P and m37 (which
requires no 0Ipn at all) than to assume that he negates the P105 of ¥Pnn YR XY HX.
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'7 is required’. *21 however requires a 7m37 Dp» albeit a X1 93, therefore we assume that
°27 maintains that a X3 93 is also a Dp», and there is no reason to differentiate between
17°py and 1man. Therefore when 7010 27 said X°7 °27 °1» K71, he meant the case of 2"V i po7
X17w 92 177, that since for m37, a X19W 93 is sufficient, the same is true for 71°py.

MooIn indicates a certain difficulty with this explanation:
— 90 297 X920 1YY Y 1°1mv: 07YNY 1)

However the X973 further does not agree with s'n® 31 reasoning i.c. that
if for a 7M1, a R 92 is sufficient, the same applies to 7Py, for we see the X3 there -
= N9 29N 72997
asks on X7 329, who wanted to say that our 73w is according to ''a™nx who says that
if the receiver stood in his place and caught the object, the thrower is 21, so we see that
a '7 017 is not required (for 7m17); on this the X 3 asks:
NN 115 NINY D3 NN XYY /7 DIPN NYPY 193 DIINN NN

Perhaps 29X requires the 79%pY to be from a 't 2y?» and a minimal

amount is not sufficient as it is by 71377, We see clearly that even though o0
requires a 77137 on a X1 92 (like °27); nevertheless the X% maintains that it does not
prove that the same is true for 77°py. This is in contradiction to s'\01 27 position
according to mooIn.

In conclusion: this vwo of N®OIN maintains (despite the difficulty from 0°7nX) that 71> 27
when he said X7 27 %11 K71, was referring to the case of Xyw 92 113"y nn por.

mooIn will now present an alternate explanation that 701 17 was indeed referring to the
case of V¥R "7 7" 2"mn P

— 591112 19097 XY DN 139399

The n''9 maintains however that the text in 91177 P75 should read:
— 799 RT0N 29 7Y 99N 1’9 NOWP NP 90 29 295
1o 21 had the question while studying; how can 7717 27 say that 7°7 21»
2°nY °27 in the case of Y¥nR2 > 2"77% 2"77n P, since °27 is not 21N

2R D1pn2 770K, and 871 27 responded etc. “You sir have learnt that 7777 27
was referencing °27, and therefore had this difficulty etc.”
— 229N N7 29 Y927 2NN NN 901 297 DAY NN

? According to this we may interpret *¥2 77°pY Xr *¥2 X7 X7 737 X12°7, to mean that ‘perhaps a naf is not
required at all, however an 77°py is required’, and therefore it has to be from a "7 2pn.

Ox.

' oK refers to X 27 who learnt by the heretic 712K 12 yw*>X

12 See footnote # 5.
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And now everything is properly understood; for it is indeed n91° 29 who

attributes s'77737° 29 statement to 329, According to this reading of the text, 27
70 maintains that °27 agrees, according to s'777° 27 interpretation, that he is 2°nw 2°°11, so
we have proof that 7m1m 77°PY do not require a "7 21, It was this case of 27 that 701 27
was referring to, not the case of Xyw 9 11 2"y i1 pr.

mooIn responds to an anticipated difficulty:
— 5515 9955 KDY 75997 7902
And when the X723 will soon refute this proof, by saying but we have

learnt that etc., meaning that we cannot prove anything from this case of "7 P71
PEAR2 V"7 "5 -

— ¢anny ow) PN GO 295 7Y NOWPT KD T9951Y 581 1D
The X723 could have just as well refuted this proof by quoting s'ney 29

own difficulty with s'7717> 27 interpretation in 2971 P79, that 7777 27 cannot be
correct when he says o°nw °27 77°71 20 -

— ©29270 AYN ©29277 3927 N 29 NOINT AR DIPNA NTINN 259N XY 1297
For °21 is not ax 21pma 779108 3991 as we learnt in a X093 that 39 says

the 770 writes'” regarding naw naX9» the words @137 798 239377 29aT;
from here we derive that there are N1oX?n v", and therefore one is not 2Pna 772X 270
ax. If 777 27 is incorrect and 27 is not 2°nWw 21, then there is no proof from this case.'®

NvOIN continues:
— N9 DN 1’29 NV

The text reading of the n''s appears to be the correct one, that no1° 21 said
that 777 27 holds that o°nw 2>°n7 *27, and not 2°Nw 2 77T °27

— N 229X DINY 2NNT NN 297 NNDM DI 29 23NNT XD NINNDT
for according to the other reading; that no1° 29 references s'n7717 29
statement, to 777370 929 who is 2% 29917 in the case of '7 72y "% "I P

" The 3 refutes the proof since *27 is discussing a 77pn *"7.

' See x> 77 2,1¥ A7 naw '0In, where MO suggests a possible refutation to this question

13 8,75 (57p™) mmw. The P05 reads "3 @ MWW "3 07277 79X, The plural word 2™27 denotes two [M12ax91],
the additional "7 of 0”277 increases it to three Max?n, the word 77X is R™w»°a2 thirty-six, bringing it to a
total of thirty —nine mMaX?n, to teach that one can be 21 thirty-nine nXvn but no more. See *"w there n"7
0°727.

' There is a difference if *27% 777 277 ®7> 10 noY 11 and has difficulty with it, or if &7% *1nn X% 70 29
29X 777 277. In the former case we are told that o°nw 211 27, according to 777 27, proving that 3°va X?
an12) 7°pya "7 opn. However, we have a difficulty understanding it and we may attempt to refute it. In the
latter case however, no one even says that 2°n® 17 7 2nn and therefore there is no X1nX i1 even of a
7X7. See ‘Thinking it over’ # 5.
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2"7172 NMR, then —
— 90 2YIN 9O 297 AU
There will be a contradiction from one statement of n91° 29 to another -
— PNN NINX D772 229 299119 NI 1NMNIN 299NT 90 29 Na9 NN 9N ONHT
for the X n) says there'’ clearly that 91> 291 7129 both agree that 77737° 529

is only nnR 2917, so how can we justify the other reading where 701 21 claims that 27
77 said that 73717 27 is 2w 211, when 701 27 himself says that nAR 272 770 2.

mooIN continues: however -
— DYNY 290N NN Fraq4 INRP NN 297 NMIYN U 297 MINTY U
This proof can be negated for 1oy 29 merely said in the name of 777%7> 29

that 77797° 929 is 29nw 2 -
$9P9 N0 XY )

However, 7101° 27 himself, he does not agree to that i.e. that 2»m 7 *20
onw, therefore the text may read that 701 17 said that 777> 27 maintains that 777 27
o’nw 2»mn and it does not contradict the view of 791’ 27 that 7717 %27 was not '2 21,

SUMMARY:

mooIn offers two alternate approaches regarding the answer of 701 27 that X7
X>77 %27 °3. 1) That 70 21 was referring to the case of X1w 95 12"y nn p1
27mn 27, and we cannot ask °va 7Ry R Y2 XPT R1T A0 Xn T, for that
question is applicable only if we say v12p, not if we hold that a X17w 92 7ma7
is required. This approach is dictated by the reading of the X723 in P77 P79
that 7101° 27 maintains that 7777 27 never said 2°nw 27 7°7 211, 2) The 0"
maintains that 701 27 was referring to the case of "7 1"77% A"mm P
v¥aX21 and the text in P17 279 reads that 701 27 maintained that 7717 27 said
DN °27 77 21, and therefore both '7 2ypn *v2 X9 7737 Py,

THINKING IT OVER
1. How do we know that 900 assumes that 701 27 is responding to the
question *¥a TPy KT YA K97 KT A7 K2

17 9.1% 1p5.
' This is the corrected reading in Mmoo, see gloss.
¥ See footnote # 1.
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2. mooIn states that the X3 could have refuted 70 29, saying 1nIn XnN
31, however the xmx refuted nor 21 differently.” Seemingly the s'%7n3
refutation is insufficient, for perhaps 701 27 disagrees with s 2R explanation
of the NPY9M7 between 1327 *37. The X773 should have asked 13 7ma7 x> 7!

3. In mBOIN question(s), what did '01n assume that 791° 27 meant when he
said X7 °27 °1m K77 Why?

4. What are the relative stronger and weaker points of each of nvo1n two
0°x17°n?

5. What did the n"9 gain by his reading of the text, 7o1 27 still could not
accept s'TT 27 interpretation?*

6. In the first approach no0IN suggests that the question X7 X7 7737 X197
Y2 779y X7 V2 is applicable only to 7vY?p, and not to KW 23 DWpn HY ana.
Can we correlate this idea more closely with any of the reasons why we
originally asked *¥2 77°py Xi7 °¥2 X?7 X177 7037 X7, i.e. X271 3"7 "oy 2"'w?

7. mooin first answer is that the question of "1 °¥2 R97 K17 A037 XADTY is
applicable only if we maintain 7P, but not if a w"> 7n17 is required.
However it is evident that 701 27 was aware of the ruling of "27 regarding
""77 777 "% 2" P where no anan is required, therefore the question
remains *v2 7Py R Y2 K27 X 7037 X 21>

8. We may think of "»7 nannaw °nd 7v2p meaning either that nvop is
considered to be actually at rest (in principle) at some point, or that if we
maintain 707p a resting place is not required. Which would be more
appropriate according to our NooIN?

2 See footnote # 3.

2L See ("x1) w"m "7 A P
22 See footnote # 16.

# See [T1xA] X"w1mn and R"ow.
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